
4
3
3
2  129 

 5
0 

 
21 

 130 

 2
20

 
 6

60
 

 6
0 

 3
0 

 180  230 

3
2

1

(+ Kugelhahn 1/2''
 + 2x Dichtung
 + Nuss)

POS-NR. BENENNUNG BESCHREIBUNG MENGE
1 M_1044.02 Wassertank/Boiler 1
2 M6 Ringschraube M6 Ringschraube 1

3 71-8413-0641_Scheibe 
6 StZn ISO7093 Scheibe D6 2

4 Mutter ISO4032 M6 Mutter M6 1

9 10 11 12

Plot/Druck DIN A2-594x420

75 6 8

C

E

F

D

85 76

321 4

F

E

D

C

B

A

H

G

B

A

1 2 43

D
IE

SE
S 

D
O

KU
M

EN
T 

BL
EI

BT
 U

N
SE

R
 E

IG
EN

TU
M

 U
N

D
 D

AR
F 

O
H

N
E 

U
N

SE
R
E 

G
EN

EH
M

I-
G

U
N

G
 W

ED
ER

 D
R
IT

TE
N

 P
ER

SO
N

EN
 N

O
C
H

 K
O

N
K
U

R
EN

ZF
IR

M
EN

 M
IT

G
ET

EI
LT

 W
ER

D
EN

.

C
O

M
M

U
N

IC
AT

IO
N

, 
U

SE
, 

AD
AP

TI
O

N
 A

N
D

 C
O

PY
 F

O
R
BI

D
D

EN
 W

IT
H

O
U

T 
AN

Y
W

R
IT

TE
N

 A
U

TH
O

R
IZ

AT
IO

N
.

TYPE:ARTIKEL-NR.:STÜCKZAHL:

DIN 7167
STANDARD:

DIN ISO 2768-mH DIN ISO 1302

1/1

M_1044_ZB.02

Wassertank/Boiler "VATTEN" DN130, 25l
Wassertank/Baoiler

1:5

ISO A2mm kg
FORMAT:EINHEIT:GEWICHT:

SEITE:

OBERFLAECHENANGABEN:

MAßSTAB:WERKSTOFF:

MAßE OHNE TOLERANZANGABEN:

BENNENUNG:

ERSATZ FUER:

RELEASE:
SIGN.NAMEDATUMTM-NR.:IND.

ZEICHNUNGS-NR.:

T.Hahn2019-10-1002


	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht3
	Zeichenansicht4


